
1

Low-alpha 0.3 a Progress

Hiroshi Ito
2018.06.04



2

	������		�

+*)

�#!�������$%

����!& %�#�%������( "#�!#�%(��

	����%��%�! �������� �(��$%���%�! ���$� !%�(�%� "#�!#�%(�	


����%�'���!���"�"����$����������� "#�!#�%(�


����#��%�'!�%������ ��$"�#�� � "#�!#�%(��

��������!������ ����#!��
�%!�� "#�!#�%(�



���!�����%�'���!���$($%�� "#�!#�%(��



3

����	�����

�"%!$�#�$ �� ��&�/����

0 1 2 3 4 5 6 7 8 9 100

200

400

600

800

1000

1200

1400

1600

1800

(time-1526610415)/3600 {anode[0] > -10 && anode[0] <0 && cathode[0]<-5 && cathode[0]>-15 && anode[1] > -15 && anode[1] < 0 && cathode[1]<-5 && cathode[1]>-15}(time-1526610415)/3600 {anode[0] > -10 && anode[0] <0 && cathode[0]<-5 && cathode[0]>-15 && anode[1] > -15 && anode[1] < 0 && cathode[1]<-5 && cathode[1]>-15}
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• 	���;8<00.1C�+-
�
• mode5.	�(-#26D@B4�3

�$-!DAQ%��/	&1OK
• 7=59��/�
(*
• 7=59E34>C(17x2)
• ���+-?A:<6D@B4�#-2

�),��/7=59/�(-��(
*"
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• (2�	.TMB1/TMB28�7�&-"���
�8)*#

• na9: daq 8.08��
• na6 8.018�,-'-runCDE.8.01.pl/)-��
• 5/23 main.cxx2mem->Clear().A;��
• 5/24 TMB1.cxx2memory::Clear()�

do{ … } while(Read_reg(GetCount1())!=0);

=>    do{ … } while(GetCount1()!=0);

• (7.=<GE3�65%10,*#
• 4+runstop_w.sh.
�1main8�)'70$

Source: TMB1.cxx

L: 
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2018/05/23
NW-SHVJRILDSWYK=�A�0
REPIC=HV�D�15
���9��-3.3kV--B2:D��

5/24 ��UYT9>,8-3.3kV-05.
Current.�CB*

�D�08���D
35.��5@
<,*

5/25 HTQYPZT�,50;MV675*

EWXMFQ=��.+B:MV[
60�=38��D	,8-@��4B?
/675[
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No progress
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2018/05/23
• ����� to LEMO (6�)
• LEMO����� x6��� (1�)
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5/30
1) atlr��Am only run?�,open

=> count rate decay 	'dZe_
-fYb_Ulow level check?b`up�Vx
=> [s^Q�6Bcheck
-]b��
=>TPCQ�6B

2)  Amitmur��?RIopen
hqjg 
��Q*PitmurC+AI

\lgtX/HLalpha4X$TG@
=> Am BqC�DAQB

3) AmNKLuPICJEPGV?-open
=> AmC��B

Count rate$.Q��3! y|z}{��M��
��GV��JE(1FLV
�21:]b
�
�22: DAQQnoq8�?dead time
�23:AmC��
�24:

5/31
4) uPIC sample (10as/hr) analysis
=> ount rate decay0#MDITAAO

5)  5%"�WV
=> Aonde Current check

6/1
6) SF0#FITmode��MDV

v&�JEw
=> Aonde Current check

7)  
=> Aonde Current check


